1O R /R 2023F L5k R AL H 171 20245F B fi Bk 2R

AFFHBEBITE ARSI BE AN RH 5

75 HE KA M EnNa EREW LR =EBNE £1E
1 gl R 64 64. 00 =
2 B2 WS 80 69. 88 =
3 B2 ol d 76 69. 88 =
4 s 2 FiE— 74 69. 88 =
5 s 2 7 B 71 69. 88 =
6 B2 S 70 69. 88 =
7 s 2 Tk 65 69. 88 =5
8 2 £} B A 62 69. 88 i
9 B2 e 61 69. 88 i
10 L AT 95 89. 00 =
11 L e K= 94 89. 00 =
12 L MR 92 89. 00 =
13 L 25T] 0 91 89. 00 &
14 L wIk 90 89. 00 =
15 L R 72 89. 00 =5
16 T I i 88 77.07 &
17 T I AN 87 77.07 =
18 T I R 85 77.07 &
19 T R LA 82 77.07 =

20 T I = 80 77.07 =
21 PR Ea v 79 77.07 &
22 T I i3 78 77.07 =
23 T I RIE 77 77.07 =5
24 T R FE% 74 77.07 =5
25 i PR FVE 74 77.07 =5
26 T I SR 70 77.07 =5
27 T I IR 70 77.07 =5
28 T I 2 70 77.07 =5
29 PR F ¥ 65 77.07 =5
30 L T 77.07 5 B
31 7o T2 JE 72 71.00 &
32 e P EE 2 2 70 71.00 i
33 EHEOA1 BMLOME 84 71.00 s
34 EhBUA1 FiT 82 71.00 =
35 AT N 80 71.00 =
36 P EGAT 255 78 71.00 =
37 LS B LU 76 71.00 =
38 AT Fites 75 71.00 =
39 AT R 75 71.00 =
40 P EGAT JEAEESR 72 71.00 =
41 [ ) KT 65 71.00 =5
42 AT B 60 71.00 =5
13 At R 55 71. 00 A
44 P EGAT 1% 50 71.00 =5
45 ERNES! FEIRER 84 79. 00 =
46 RS g 83 79. 00 =
47 T L &3 70 79. 00 =5
48 e e g 2 HEE 85 85. 00 =
F 1o, 45




75 HE KA M EnNa EREW LR =EBNE £1E
49 w2 HEFTHT 85. 00 5 B
50 [laabiEo B 74 71.00 =
51 [laabiEo ARENFE 68 71.00 =5
52 T R L R ARIE 68.5 68. 50 =
53 e B2 A 88.5 77.67 &

54 T ) EE 2 FFAR I 75.5 77.67 =5
55 T 2 Elgn:] 69 77.67 =5
56 L i 72 72.00 &
57 7o A2 {F3L3H 72 72.00 =
58 Ak 2 X 72.00 i g
59 Y i 12 60 60. 00 =
60 [CRZNER! FHH 82 55. 60 =
61 mRE T AR 73 55. 60 &
62 mHAEL P& 65 55. 60 =
63 A AEL JidE 58 55. 60 =5
64 [CRZNER! g 0 55. 60 5 25 X 3 9 5 4
65 A E2 T 76 46. 50 =
66 AR 2 S 58 46. 50 =
67 R E2 2 H 52 46. 50 =
68 A E 2 RS 0 46. 50 5 25 X 3 P 3 4
69 Hh A E2 BRI 46. 50 5 B
70 i EAR AR 84 76. 00 =
71 R EAR g 82 76. 00 =
72 i EAR G 79 76. 00 =
73 o SR ik 78 76. 00 =
74 i EAR T 68 76. 00 i
75 R EAR =T 65 76. 00 =5
76 YIHiESC Qe 85 77.65 =
77 IS TR 85 77.65 =
78 Y iEC R 84 77.65 =
79 Y iEC JE AN 84 77.65 =
80 Y iEC Tk 83 77.65 =
81 Y iEC e 82 77.65 =
82 Y iEC L 81 77.65 =
83 YIHiESC [ 80 77.65 =
84 Y iEC R 80 77.65 =
85 Y iEC FEHRE 78 77.65 =
86 Y iEC A 78 77.65 =
87 Y iEC T Tk 78 77.65 =
88 Y iEC WHT 77 77.65 =5
89 YIHiESC JE it 76 77.65 =5
90 HIFIE L TiE 75 77.65 =5
91 Y iEC T 75 77.65 =5
92 Y iEC TR 74 77.65 =5
93 Y iEC 4k 28 P 74 77.65 =5
94 HIFIE L ST 73 77.65 =5
95 Y iEC T 5 72 77.65 =5
96 Y iEC TE 72 77.65 =5
97 Y iEC &S 70 77.65 =5
98 IS H 70 77.65 =5
99 Yl Tk 88 84.67 =

F 20, 50




75 HE KA M EnNa EREW LR =EBNE £1E
100 Yl JEBR SR 86 84.67 =
101 Yl E R 86 84. 67 =
102 Yl E 2 Al 85 84. 67 &
103 Yl E EEEES 85 84. 67 =
104 IR FEm I 78 84. 67 =5
105 RS R 80 80. 00 =
106 HIFH A2 B 84 74. 40 =
107 HIFH A2 T 82 74. 40 &
108 HIHEA2 BET 82 74. 40 =
109 HIFH A2 XI55 J5 82 74. 40 =
110 HIF A2 Yt 80 74. 40 =
111 HIFH A2 [FRA 80 74. 40 =
112 HIHEA2 JA 7535 80 74. 40 &
113 HIF A2 JE B 80 74. 40 =
114 HIFH A2 e 78 74. 40 =
115 HIF A2 ARG 76 74. 40 =
116 HIHEA2 Fiztk 74 74. 40 =5
117 HIFH A2 FERR 74 74. 40 =5
118 HIFH A2 PR 72 74. 40 =5
119 HIFH A2 R~ 70 74. 40 =5
120 WP A2 RIS 68 74. 40 HE
121 HIFH A2 FFE 68 74. 40 =5
122 HIFH A2 2 H 66 74. 40 =5
123 HIFH A2 Xl fk e 66 74. 40 =5
124 WP ELA2 Bt R 64 74. 40 HE
125 HIF A2 JAL 5 62 74. 40 =5
126 Y bt 85 79. 00 =
127 Y THEE 83 79. 00 =
128 CIREAE e Bt 74.5 79. 00 =5
129 Y KILE 73.5 79. 00 =5
130 Yl ik TE% 74 68. 75 =
131 I FE 71 68. 75 =
132 Yl k2 TH 70 68. 75 =
133 Yl k2 AL 60 68. 75 i
134 Yl (s BEA [E e 75 70. 67 =
135 Y s BEOAR e 72 70. 67 =
136 LIS T 71 70. 67 & 7] 53
137 Y g BEOAR K 71 70. 67 = 7] 53
138 Y s BEOAR MRIK 71 70. 67 = 7] 53
139 LIS A IR 64 70. 67 i
140 YRR KR 66 66. 00 =
141 YRR L JAE K 66. 00 HE 22 551 [X 45, P 2 42
142 YRR T 55 66. 00 5 25 X 3 P 5 4
143 YRR E 2 X — {8 87 39. 87 =
144 YRR E 2 HORCH: 85 39. 87 =
145 Y iEE 2 R 83 39. 87 =
146 YRR E 2 TkH L 75 39. 87 =
147 YRR E 2 TR 71 39. 87 =
148 YRR E 2 TR 70 39. 87 =
149 YR E 2 IR HE 69 39. 87 =
150 HIF A2 ik EW 58 39. 87 =
¥ 30, 45




75 HE KA M EnNa EREW LR PN £1E

151 HIF A2 e 0 39. 87 5 25 X 3 P 5 4
152 HIF A2 AT 1% 0 39. 87 5 25 X 3 9 3 4
153 HIF A2 W77 0 39. 87 i 25X Sk E 4
154 HIF A2 2T T 0 39. 87 5 25 X 3 P 5 4
155 Wk E2 AR 0 39. 87 HE 22 551 [X 45 P 2 42
156 HIF A2 Sgear i 0 39. 87 i 25X 3k E 4
157 HIF A2 Bl 0 39. 87 i 25X 3k E 4
158 INEEEC I i 22 92.5 75. 44 =

159 INEEAE L REEA 91 75. 44 =

160 INEEE L AR 87.5 75. 44 =

161 INEEE L HAIH 87.5 75. 44 =

162 INEEE L O 81.5 75. 44 =

163 INEEAE T 80.5 75. 44 =

164 INEETE S R 80 75. 44 =

165 INEEEC o o 80 75. 44 =

166 INEEE L FHAE 78 75. 44 =

167 INEEAE L RNE 77 75. 44 =

168 INEAESC =3 76.5 75. 44 =

169 INEEE L B 76.5 75. 44 =

170 INERESC I 75 75. 44 5

171 INEEE L Fii 74.5 75. 44 =5

172 INERESC VESe 74.5 75. 44 =5

173 INERESC LR 72.5 75. 44 =5

174 INEEE L B i 7 72.5 75. 44 HE

175 INEEAE L [ 70 75. 44 HE

176 INERESC P 69. 5 75. 44 =5

177 INERESC HE PR 69 75. 44 =5

178 INERESC FAXES 68 75. 44 =5

179 INEETE L WRE LT 63 75. 44 &

180 INEEE L 516 67.5 75. 44 HE

181 INEEEC R 66. 5 75. 44 HE

182 INEEEC B 65. 5 75. 44 HE

183 INEEEC 2 60 75. 44 HE

184 N A5} K 88 73.82 =

185 N K 87 73. 82 =

186 INEER IR 85 73.82 =

187 INEER EE S 82 73.82 =

188 INEER i 80 73.82 =

189 INEER Z A 80 73.82 =

190 N iR 80 73.82 =

191 N Wi % 79 73.82 =

192 AN 850 73 73.82 =5

193 INEER Wy 72 73.82 HE

194 INEER MEEE 70 73.82 HE

195 INEER A0 65 73.82 HE

196 INER =AY 65 73.82 HE

197 INEER o 64 73.82 HE

198 N S 63 73.82 HE

199 N AT A 62 73.82 HE

200 INER F R 60 73.82 i

201 INFEE VriE s 85 62. 67 =

¥ 40, L5




75 HE KA M EnNa EREW LR PN £1E
202 INETEE (PN 85 62. 67 =

203 NI HiH A 84 62. 67 =

204 INETEE T 84 62. 67 &

205 INETLE K] 82 62. 67 =

206 N FRE&E 50 62. 67 =5

207 INETLE REM 49 62. 67 =5

208 INETEE AT 45 62. 67 =5

209 NI v 0 62. 67 HE 2 5 X 5k B 47
210 INEIRE XIFhIK 88 65. 18 =

211 INFIRE ik = 87 65. 18 =

212 INEIRE BRI 86 65. 18 s

213 INFIRE K 85 65. 18 =

214 INEIRE it 82 65. 18 =

215 NERE I35 [H 78 65. 18 P [543
216 INEIRE pa 78 65. 18 = &4y
217 INFIRE SN 75 65. 18 =5

218 INERE iz A 58 65. 18 =5

219 INEIRE i 65. 18 HE 2 5 X ok B 47
220 INEIRE AR YRAE 65. 18 HE 2 5 X ok B 47
221 INFRL A FEYR 84 82. 00 =

222 AN JERKES 83 82. 00 &

223 INFRL A HEE 79 82. 00 =5

224 INFFEAR 40T g 85 77.25 =

225 INEFER B E 84 77.25 =

226 INFEFEAR paifin 80 77.25 =

227 INFFEAR INEEES 60 77.25 =5

228 INFE IR 2= 87 80. 83 =

229 INFE IR [SUES 84 80. 83 =

230 N R I 4 82 80. 83 =

231 INFE IR [ UEEE 81 80. 83 =5

232 INFE IR R 76 80. 83 =5

233 INFE IR kinsE 75 80. 83 =5

234 ANEAE HEAR 23RN 82 79.33 =

235 NS BEA M4 80 79.33 =

236 NS BEA X TE3 76 79.33 i

237 FHIHE B 77 70. 00 =

238 FERHE Z=BiE 75 70. 00 =

239 ESiE:&: &3 75 70. 00 =

240 EaiEdE G2 74 70. 00 =

241 FERHE T7 73 70. 00 =

242 FHIHE s 72 70. 00 =

243 FHIHE 1 ik 72 70. 00 =

244 EaiEdE MRasta 71 70. 00 =

245 FERHE VEIT ik 71 70. 00 =

246 FHIHE i 50 A7 60 70. 00 =5

247 FHIHE (iR 60 70. 00 =5

248 FERHE W15 60 70. 00 =5

¥ 50, 45




